

## **ABC Bid Data**

DISTRICT 5 16165 **NON-FEDERAL** 

PROJECT: DISTRICT 5

STATE PROJECT NUMBER: 16165I

FED. PROJECT NUMBER: NON-FEDERAL **DATE BIDS OPEN:** February 25, 2020,

SCOPE OF WORK:

Resurfacing various tier 2, 3, and 4 roadways in District 5. September 18, 2020

**COMPLETION DATE:** 

LOCATION:

Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE LONDONDERRY, NH 03053

Amount: Award Date: \$2,582,312.98

Certified by: PETER.E.STAMNAS

Director of Project Development

## **Summary of Bidders**

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC	\$2,582,312.98	Α
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		
PIKE INDUSTRIES, INC.	\$2,663,553.09	В
O FACTOATE BARK BOAR BELMONTALL COCCO		

3 EASTGATE PARK ROAD, BELMONT NH 03220

					F	°S&E	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053	3 EASTGAT	ISTRIES, INC. E PARK ROAD T, NH 03220
Item I	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

## **Items**

_									
206.1	COMMON STRUCTURE EXCAVATION	CY	15.70	\$400.00	\$6,280.00	\$500.00	\$7,850.00	\$525.00	\$8,242.50
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,958.60	\$20.00	\$59,172.00	\$22.00	\$65,089.20	\$32.00	\$94,675.20
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	644.40	\$76.00	\$48,974.40	\$84.00	\$54,129.60	\$75.00	\$48,330.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	953.80	\$85.00	\$81,073.00	\$94.00	\$89,657.20	\$82.00	\$78,211.60
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	5,329.60	\$85.00	\$453,016.00	\$94.00	\$500,982.40	\$82.00	\$437,027.20
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	84.00	\$125.00	\$10,500.00	\$125.00	\$10,500.00	\$150.00	\$12,600.00
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	3.00	\$350.00	\$1,050.00	\$400.00	\$1,200.00	\$225.00	\$675.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	5,329.60	\$2.50	\$13,324.00	\$1.50	\$7,994.40	\$3.70	\$19,719.52
403.6	PAVEMENT JOINT ADHESIVE	LF	59,771.00	\$0.25	\$14,942.75	\$0.25	\$14,942.75	\$0.24	\$14,345.04
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	23,982.00	\$3.25	\$77,941.50	\$4.00	\$95,928.00	\$3.50	\$83,937.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	15,971.90	\$76.00	\$1,213,864.40	\$79.00	\$1,261,780.10	\$78.00	\$1,245,808.20
417.	COLD PLANING BITUMINOUS SURFACES	SY	33,053.00	\$2.50	\$82,632.50	\$3.00	\$99,159.00	\$4.00	\$132,212.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	1,100.00	\$5.50	\$6,050.00	\$10.00	\$11,000.00	\$1.50	\$1,650.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	70.00	\$100.00	\$7,000.00	\$100.00	\$7,000.00	\$94.00	\$6,580.00
604.0007	POLYETHYLENE LINER	EA	62.00	\$125.00	\$7,750.00	\$150.00	\$9,300.00	\$130.00	\$8,060.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	62.00	\$350.00	\$21,700.00	\$450.00	\$27,900.00	\$550.00	\$34,100.00
608.2401	4" CONCRETE SIDEWALK	SY	132.20	\$65.00	\$8,593.00	\$85.00	\$11,237.00	\$75.00	\$9,915.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.00	\$425.00	\$8,925.00	\$500.00	\$10,500.00	\$450.00	\$9,450.00
609.5	RESET GRANITE CURB	LF	68.00	\$30.00	\$2,040.00	\$40.00	\$2,720.00	\$50.00	\$3,400.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$1,000.00	\$6,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00
618.7	FLAGGERS	HR	1,473.00	\$34.00	\$50,082.00	\$40.00	\$58,920.00	\$38.00	\$55,974.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	82.00	\$10.00	\$820.00	\$20.00	\$1,640.00	\$15.00	\$1,230.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	951.00	\$3.00	\$2,853.00	\$15.00	\$14,265.00	\$10.00	\$9,510.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	7,600.00	\$1.00	\$7,600.00	\$1.00	\$7,600.00	\$0.80	\$6,080.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	810.00	\$3.50	\$2,835.00	\$3.50	\$2,835.00	\$4.00	\$3,240.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,600.00	\$1.00	\$7,600.00	\$0.50	\$3,800.00	\$2.00	\$15,200.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	810.00	\$2.50	\$2,025.00	\$2.00	\$1,620.00	\$3.00	\$2,430.00

				PS&E		1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	2,750.00	\$3.00	\$8,250.00	\$1.75	\$4,812.50	\$2.00	\$5,500.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	25.00	\$40.00	\$1,000.00	\$100.00	\$2,500.00	\$40.00	\$1,000.00
692.	MOBILIZATION	U	1.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$175,000.00	\$175,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	7,700.00	\$1.00	\$7,700.00	\$1.00	\$7,700.00	\$1.00	\$7,700.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	22,650.83	\$1.00	\$22,650.83	\$1.00	\$22,650.83	\$1.00	\$22,650.83
·	Totals:				\$2,421,344.38		\$2,582,312.98		\$2,663,553.09
			Alt. Totals:						
	Totals:				\$2,421,344.38		\$2,582,312.98	\$2,663,553.09	



## **PS&E Comparison**

DISTRICT 5 16165I NON-FEDERAL

			Quantity	A-Bid	der	PS	<b>ξ</b> Ε	
Item No.	Description	Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	15.70	\$500.00	\$7,850.00	\$400.00	\$6,280.00	\$1,570.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,958.60	\$22.00	\$65,089.20	\$20.00	\$59,172.00	\$5,917.20
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	644.40	\$84.00	\$54,129.60	\$76.00	\$48,974.40	\$5,155.20
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	953.80	\$94.00	\$89,657.20	\$85.00	\$81,073.00	\$8,584.20
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	5,329.60	\$94.00	\$500,982.40	\$85.00	\$453,016.00	\$47,966.40
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	84.00	\$125.00	\$10,500.00	\$125.00	\$10,500.00	\$0.00
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	3.00	\$400.00	\$1,200.00	\$350.00	\$1,050.00	\$150.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	5,329.60	\$1.50	\$7,994.40	\$2.50	\$13,324.00	(\$5,329.60)
403.6	PAVEMENT JOINT ADHESIVE	LF	59,771.00	\$0.25	\$14,942.75	\$0.25	\$14,942.75	\$0.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	23,982.00	\$4.00	\$95,928.00	\$3.25	\$77,941.50	\$17,986.50
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	15,971.90	\$79.00	\$1,261,780.10	\$76.00	\$1,213,864.40	\$47,915.70
417.	COLD PLANING BITUMINOUS SURFACES	SY	33,053.00	\$3.00	\$99,159.00	\$2.50	\$82,632.50	\$16,526.50
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	1,100.00	\$10.00	\$11,000.00	\$5.50	\$6,050.00	\$4,950.00

559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	70.00	\$100.00	\$7,000.00	\$100.00	\$7,000.00	\$0.00
604.0007	POLYETHYLENE LINER	EA	62.00	\$150.00	\$9,300.00	\$125.00	\$7,750.00	\$1,550.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	62.00	\$450.00	\$27,900.00	\$350.00	\$21,700.00	\$6,200.00
608.2401	4" CONCRETE SIDEWALK	SY	132.20	\$85.00	\$11,237.00	\$65.00	\$8,593.00	\$2,644.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.00	\$500.00	\$10,500.00	\$425.00	\$8,925.00	\$1,575.00
609.5	RESET GRANITE CURB	LF	68.00	\$40.00	\$2,720.00	\$30.00	\$2,040.00	\$680.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$0.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$0.00
618.7	FLAGGERS	HR	1,473.00	\$40.00	\$58,920.00	\$34.00	\$50,082.00	\$8,838.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	\$2,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	82.00	\$20.00	\$1,640.00	\$10.00	\$820.00	\$820.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	951.00	\$15.00	\$14,265.00	\$3.00	\$2,853.00	\$11,412.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	7,600.00	\$1.00	\$7,600.00	\$1.00	\$7,600.00	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	810.00	\$3.50	\$2,835.00	\$3.50	\$2,835.00	\$0.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,600.00	\$0.50	\$3,800.00	\$1.00	\$7,600.00	(\$3,800.00)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	810.00	\$2.00	\$1,620.00	\$2.50	\$2,025.00	(\$405.00)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	2,750.00	\$1.75	\$4,812.50	\$3.00	\$8,250.00	(\$3,437.50)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	25.00	\$100.00	\$2,500.00	\$40.00	\$1,000.00	\$1,500.00
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	(\$20,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00

Wednesday, February 26, 2020 Page 5 of 6

1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$ 7,700.00	\$1.00	\$7,700.00	\$1.00	\$7,700.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$ 20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$ 50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$ 22,650.83	\$1.00	\$22,650.83	\$1.00	\$22,650.83	\$0.00

**Total:** \$2,582,312.98 \$2,421,344.38 \$160,968.60

Wednesday, February 26, 2020 Page 6 of 6